
Lecture 3 - January 14

Recursion: Part 1
Asymptotic Analysis of Algorithms

splitArray: Implementation and Tracing



Announcements/Reminders

• Assignment 1 released
• Office Hours: 3pm to 4pm, Mon/Tue/Wed/Thu
• Contact Information of TAs on common eClass site



Problem on Recursion https://codingbat.com/prob/p185204
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splitArray: Java Implementation>
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Math

Commutativity : ↑xg = & "P
Pvq = gvp

Java

Evaluation orders matter Ope = g &* 4
25 11 do not commute Ep 11 q G 11p

D Evaluation : left to right eperal . to 1 -> still eval &E
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peral. to F -> Speral ofG -> overallD -> overallI



splitArray: Tracing (1)
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splitArray: Tracing (2)

Exercist

(1) Trace (recursion tree
22, Trace (debugger)



splitArray: Tracing (3)



splitArray: Tracing (3) input
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